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'i'irlr:t il Ilour;

1hc ;r.imL: rurllbers 2, ), 5, ),, ]1, ll, 17.., arc cxceedingly impoflant in Compuler
scie[.{ bedau:n of thcrpa[t thcv pluy in cuor -,:orrecting cocles and iata encryption. This
probllrn is iLhout. algoritl.tllri lo linll irll tJle priolc nunbers up to N:l0,000. We give you
algorifllr I and :] and yoLr )our sclf nlrst desigr algorithrn 2. you nnrst implement all
three ir .gor'ilh ns, rut lhetn. nltd (L€terninr which are the best and rvorsl.

A Lgolitltm l

In this :Llgrrritlrn you conj.i.lcr c,rcD,n lbei. fiom 2 up to ){. Ifit is prime you include in
tle li,t1 -ll0 

t(:,rt \,Jhetler ir tiurnbr)l: rn is plirne number you simply divide it iy each ofthc
ntLm!.:2,J,.-.,m-1;ilayollhcsed,r,isionsislvitlroutrclnaindcrthenmisnotprirnc,
oiherr! ie il iri

Algrrr ithrrr 2 
:

Modil\ Alrlol itllrl I tl) lnrlie thr) lqst Ib. Jrrimality rnore efficient.

Algcrr ithm 3

Thi\ ill(,'ilh rL rr a, lirth. rrror r rricl.y lt \.vas . d i scovercd b), the ancient creeks and
r)' vri l '/" ,\: |rt ribut,i ir t]l tlitluIh,roi.!, ol Cyrenc (2768C - 194 BC). you begin with
ar.anrri 01 b0oleans wit,r,)le pcsition ]1)r each index lrom 2 up toN (.lava arrays begin
al indc i 0 bL1 tltat just ftoitns tlDt !r'e \,on,t aotually use p<rsitions 0 and I ). you fill *is
array t .lh value "truc" al -lach l)ositi,.rn ,:xcept foL l'[0] and p[1] u,lrich are sct ro ,.false,,.

The rr: r I stel) is fcpeated untiL \,\ I al. lltrishe(i. .

\\r0.looli fi:r :ire Dext positii)'t ilr lhc at.r.l \,vltich has a,,tllla,,valuc (This will be position 2
initi4l 'l olcorrrse). liuppolie thisposiii,)nt. IheD we make p[2t],p[4t],. ... all ,,false,,. and
wo aa,l tt0 oL1 list ofDritncr.

Thal is i1! Cn:ry out.l fbr.hand {ral,:ulitiolls to eusure you undcrstand.what is going on,
inp:rt :.r'r r',, t:,t -.o'rct;li(lt(,l tn.:rt :



You lrr',.e tu Co tlrc follov, ing
ll r:'reate.an applicallon olaris [o iffplement these three algorithms
2l ,A.d{l $r:alic nretlro(l$ l'or those drrcc algorithms.
3l' laolr program shoLr Ld olllfrui thc tr)rines it finds foml each algodthn using

:ij. tc' B.ouL.i.rintlr.
4j YoIr Flo[]am sh('u ld als,) olrlpul $e time each algorithm takes to execute to the

ita[dard effor stre d]n r:Syrifern.er 1).

Ii r exanNrle
j.t: t 6 t-art-Sy,e1i€,n, curI en bTimel4iLl i s ( ) ,1

/'/ calt a rlrethod to cto Lhe desjred algorithm.
ir: end ::Svst,e10. cur::rentTi.meMifli s O ;
-<r'itenr,i-.r':r.p:rir1t {err(i-start) i \

i!ril,nrir rritrn uf this exar[ llas two ['ails.
(i) liirbrmit a floppy cootai[ljng yrur source oode.
(i, Ihrtimlt answer ri,:(ipt$ whioh contain

(a) Descrilition (desi[p) )falgorithm 2.
(t)) Idsntifi0rtiorL \rltich rlgorithn is best anclwhich algorithm is worst 

I
\\,irh briel elplarirt i.)n.


